21.

125, 108, 88, 76, 65, 58, 53

(L) (2) 106
.18} 88 ‘ (4) 53
Balance is related to Mass

in the same way as
Odometer is related to

(1) Wind direction

(2) Speed

(3) Deformation

(4) Temperature

24. P.Q,R, Sand Tare playing

a game of cards. P said to
Q. “If you will give three
cards to me you will have
as many cards as T has and
if I will give to you three
cards, then you will have as
many cards as S has”. The
total number of cards with
P and Q exceeds by 10 than
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28.

If ‘nitco sco tingo’ means
‘softer than flower'; ‘tingo
rho mst’ means ‘sweet
flower fragrance’ and ‘mst
sco tmp’ means ‘sweet than

smile’, what would
‘fragrance’ stand for?

(1) rho (2) mst

(3) sco (4) tmp

22. One woman on her way that of S and T together 9 ?afﬁg?gtlf::l ?\ﬁioﬁ?ﬂ ;Lﬁ
meets another woman who have. If Q has two more not as tall as Raiu, Js t
; ; ] ju. Jayan
is going with one boy and cards than that of R and is taller than Dutta. but
asks about the relation of there are altogether 133 Seeorins Manohar.'Who
boy with her. The woman cards, then how many cards is the tallest in the group?
says, “Maternal uncle of were with @ initially? (1) asant
maternal uncle of the boy (1) 22 (2) 23
and my maternal uncle are | . (3) 25 (4) 35 (2) Manohar
brothers.” How the boy is | 25. If the following alphabets (3) Jayant
related to that woman? are written in reverse order (4) Raju
(1) Nephew then which of the following 30. Sanyog is standing at a
(2) Brother will be 6th to the left of 10th point. He walks 20 metres
(3) Grandson letter from the right? towards the east and
(4) Son ABCDEFGHIJKLMN further 10 metres towards
23. Bus for Hyderabad leaves OPQRSTUVWXYZ the south, then he walks 35
every forty minutes from a 1w 2P metres towards the west
bus-stand. An enquiry clerk B K 4D and further 5 metres
gives the information to a | 26. Three of the following four towards the north, then he
passenger that a bus for are alike in a certain way walks 15 metres towards
Hyderabad has already left and so form a group. Which the east. What is the
10 minutes ago and next one does not belong to that straight distance between
bus will leave at 10 : 45 AM. group? his starting point ahd the
At what time the enquiry (1) Bud (2) Branch point where he reached
clerk gave this information (3) Plant (4) Leaf Iast?
to the passenger? 27. Inacertain code, BOXER is (1) 5 metres
(1) 10: 15 AM written as AQWGQ. How is
(2) 10 : 05 AM VISIT written in that code? g ig rmn:g::’
(3) 10 : 35 AM (1) UKRKU (2) UKRKS :
(4) 09 : 55 AM (3) WKRKS (4) WKRKU (4) 20 metres
ANSWERS

1.(3) 2.(4) 3.3 | 4@ 13.(4) | 14.3) | 15.(2) | 16.(3) 25.(2) | 26.3) | 27.(2) | 28.(1)

5.(2) 6.(1) 7.(1) 8.(4) 17.(2) 18.(4) 19.(1) | 20.(4)

9.(3) 10.(1) 11.(3) | 12.(2) 21.(2) 22.(4) 23.(1) | 24.(3)
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